A<31..0> A<31..0>
SRC
D<31..0> D<31..0>
DONE.H DONE. H
WRITE.H WRITE.H
READ. H READ. H
CLK CLK |

A<e9..25>

[a<31..30>

[a<29..25>
[a<31..30>

[a<29..25>
[a¢31..30>

OE.L=
WE.L=

0osc

>

READ.H

!V'

Y

WRITE.H

B 7 NXT_RAS.
@ 7 NXT_CAS.

rr

=9, N
= 8, NXT_RAS.L

XT_CAS.L

>@
>@

@, NXT_COLUMN.H
@, NXT_COLUMN.H

OE.L= @ 7 NXT_RASIL
@ 7 NXT_RAS.L

WE.L=

NXT_WEX.L =

MUX
A<24..13> 2<11..8>
1<11..0> M<1L. . 8>
A<l12. . 2> 1<10..0>
?1<11>
COLUMN.H SELECT
NXT_RAS.L D Q RAS.L
[CLK>—D ik
NXT_CAS. L D Q CAS.L
CLK CLK
NXT_WEX.L D Q WEX.L
CLK CLK
NXT_COLUMN.H D Q COLUMN.H
CLK CLK
X ~ DONE.H = 1
CE.L =1

@, NXT_COLUMN.H
0, NXT_COLUMN.H

NXT_WEX.L = 0

CE.L = @ 7 NXT_RAS.L = 0

MT4LC8M8B6

[M<11..8> >—A<1l..8>
[D<31..24>  >—1pac7..0>
[WEX.L >—uE.L
[Ras.L _>—Ras.L
[cas.L _>—cas.L
‘57——0E.L
MT4LCSMSB6
[M1it..0> > —1a<1t..0>
[<23..16>  >—1pac7..0>
WEX.L >—(uE.L
[Ras.L _>—Ras.L
[cas.L _>—cas.L
%;——OE.L
MT4LCSMSB6
[M<1l..0> >—a<11..0>
[<15..8> > ——Da<7..0>
WEX.L >—uE.L
[RAs.L _>—Ras.L
[cas.L _>—cas.L
‘57——0E.L
MT4LCSMSB6
[1it..0> >—a<1t..0>
[<7..0> > —Ipac7..0>
WEX.L >—(uE.L
[RAs.L _>—Ras.L
[cas.L _>—cas.L
‘57——0E.L
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